



King Fahd University of Petroleum & Minerals

**DEPARTMENT OF MATHEMATICAL SCIENCES**

---

Technical Report Series

TR 164

July 1994

**TC Semigroups and Inflation**

R.J. Warne

# TC SEMIGROUPS AND INFLATIONS

R.J. WARNE

Department of Mathematical Sciences  
King Fahd University of Petroleum and Minerals  
Dhahran 31261, Saudi Arabia

## Abstract

An algebra  $A$  satisfies  $TC$  (the term condition) if  $p(a, \tilde{x}) = p(a, \tilde{y})$  iff  $p(b, \tilde{x}) = p(b, \tilde{y})$  for any  $a, b \in A$ ,  $\tilde{x}, \tilde{y} \in A^n$  and any  $n + 1$ -ary term  $p$ .  $TC$  algebras have been extensively studied. We previously determined the structure of all  $TC$  semigroups. We use this result to show that if  $S$  is a  $TC$  semigroup then  $S_E = \{a \in S \mid ax \text{ is an idempotent}\}$  is an inflation of  $S_{\text{Reg}}$  (the set of regular elements of  $S$ ) and  $S_{\text{Reg}} \cong H \times A \times B$  where  $H$  is an abelian group,  $A$  is a left zero semigroup, and  $B$  is a right zero semigroup. As consequences of this result, we show that  $S$  is a semisimple  $TC$  semigroup iff  $S \cong H \times A \times B$  where  $H$  is an abelian group,  $A$  is a left zero semigroup, and  $B$  is a right zero semigroup and that, if  $S$  is a  $TC$  semigroup, then  $S$  is an  $\mathcal{R}$ -trivial semigroup iff  $S_{\text{Reg}} = \phi$  or is an  $\mathcal{R}$ -trivial semigroup iff  $S_E = \phi$  or is an inflation of a left zero semigroup.

The term condition for algebras ( $TC$ ) was introduced by McKenzie [4] and algebras obeying  $TC$  (also called abelian algebras) have been extensively studied. A semigroup satisfies  $TC$  if and only if (c1)  $xy = xz$  implies  $uy = uz$  (c2)  $yx = zx$  implies  $yu = zu$  (c3)  $y_1xy_2 = z_1xz_2$  implies  $y_1uy_2 = z_1uz_2$ .  $TC$  semigroups were first considered by Taylor [7] and McKenzie [5]. In [5], McKenzie characterized  $TC$  semigroups of finite exponent and posed the problem of characterizing all  $TC$  semigroups. In [8, Theorem 1.13], we determined the structure of all  $TC$  semigroups, and in [8, Theorem 2.11], we gave a more detailed structure theorem for periodic  $TC$

semigroups. In [8, Corollary 2.6], we gave a structure theorem for  $TC$  regular semigroups. In [9, Theorem 2.1], we specialized [8, Theorem 1.13] to obtain the structure of reversible  $TC$  semigroups  $S(aS \cap bS \neq \phi$  and  $Sa \cap Sb \neq \phi$  for all  $a, b \in S$ ). In [9, Theorem 3.8], we determined the structure of quasi-regular  $TC$  semigroups. In [9, Theorem 4.2], we showed that a  $TC$  semigroup  $S$  has the congruence extension property ( $CEP$ ) if and only if  $S$  is periodic (a semigroup  $S$  has  $CEP$  if for every subsemigroup  $T$  of  $S$  and congruence relation  $\rho$  on  $T$ , there is a congruence relation  $\bar{\rho}$  on  $S$  such that  $\bar{\rho} \cap (T \times T) = \rho$ ). In [10, Theorem 3.4], we determined the structure of a class of semigroups  $S$  that satisfies  $(c1)'$  (if  $x \in S$  there exists  $u^2 = u \in S$  such that  $(c1)$  is valid for  $y, z \in S^1$  ( $S$  with appended identity)) and  $(c2)'$  and additional conditions.

We show that if  $S$  is a  $TC$  semigroup, then  $S_E = \{a \in S | ax \text{ is an idempotent}\}$  is an inflation of  $S_{Reg}$  (the set of regular element of  $S$ ) and  $S_{Reg} \cong H \times A \times B$  where  $H$  is an abelian group,  $A$  is a left zero semigroup, and  $B$  is a right zero semigroup (Theorem 12). Using this theorem, we show that  $S$  is a semisimple  $TC$  semigroup if and only if  $S \cong H \times A \times B$  where  $H$  is an abelian group,  $A$  is a left zero semigroup, and  $B$  is a aright zero semigroup (Theorem 13). As another consequence of Theorem 12, we show that if  $S$  is a  $TC$  semigroup, then  $S$  is an  $\mathcal{R}$ -trivial semigroup iff  $S_{Reg} = \phi$  or is an  $\mathcal{R}$ -trivial semigroup iff  $S_E = \phi$  or  $S_E$  is an inflation of a left zero semigroup (Theorem 14). As an immediate consequence of Theorem 12, if  $S$  is a  $TC$  semigroup, then  $S$  is quasi-regular ( $a \in S$  implies  $a^n \in S_{Reg}$  for some positive integer  $n$ ) iff  $S$  is  $E$ -inversive ( $S_E = S$ ) (so, the

structure of  $S$  is given by Theorem 12) (Theorem 15).

For universal algebra concepts not defined here we refer the reader to [1] or [6]. For algebraic semigroup concepts not defined here, we refer the reader to [2], [3], or [6].

A semigroup  $S$  is termed  $\mathcal{R}$ -trivial if each  $\mathcal{R}$ -class ( $\mathcal{R}$  is Green's relation) of  $S$  consists of a single element. If  $S$  is a semigroup,  $E(S)$  will denote the set of idempotents of  $S$  and  $S_{\text{Reg}}$  will denote the set of regular element of  $S$ .  $\dot{\cup}$  will denote disjoint unions,  $\phi$  denotes the empty set, and  $\cong$  means "isomorphic to".

We first state our structure theorem [8, Theorem 1.13] for  $TC$  semigroups (Theorem 1) and give some consequences of this theorem (Remark 2 and Lemmas 3–11). These results will be needed to prove Theorems 12–14).

### Construction of $TC$ Semigroups

Let  $G$  be an abelian group,  $I$  be a left zero semigroup, and  $J$  be a right zero semigroup. Let  $V$  be a subsemigroup of  $G \times I \times J$ . Let  $(X_v : v \in V)$  be a collection of pairwise disjoint sets and let  $X = \cup(X_v : v \in V)$ . For  $v = (m, i, j)$  and  $x \in X_v$  define  $m(x) = m$ ,  $i(x) = i$ , and  $j(x) = j$ . Let  $M_i = \{m : (m, i, j) \in V \text{ for some } j\}$  and  $N_j = \{m : (m, i, j) \in V \text{ for some } i\}$ . For  $(i, j) \in Pr_I V \times Pr_J V$ , let  $\phi_{ij}$  be a function from  $M_i \times N_j \rightarrow X$  such that

1.  $\phi_{ij}(m, n) \in X_{(mn, i, j)}$
2.  $\phi_{ij}(mk, n) = \phi_{ij}(m, kn)$  for  $k \in UM_i$

3.  $\phi_{ij}(m, kn) = \phi_{ij}(p, kq)$  implies  $\phi_{ij}(m, sn) = \phi_{ij}(p, sq)$  for  $k, s \in UM_i$ .

Let  $(X, V, \phi)$  denote  $X$  under the multiplication

4.  $xy = \phi_{i(x)j(y)}(m(x), m(y))$ .

Theorem 1 or Remark 2 will be used in the proofs of Lemmas 3–8, Lemmas 10–11, Theorem 12 and Theorem 13.

**Theorem 1.**  *$S$  is TC semigroup if and only if  $S \cong (X, V, \phi)$  for some  $X, V$ , and  $\phi$ .*

**Remark 2.** Let  $C = (m(a) : a \in X)$ . Then, using (4) and (1) of Theorem 1,  $m$  is a homomorphism of  $X$  onto  $C$ . Hence,  $C$  is an abelian cancellative semigroup. Furthermore  $\varphi(a) = (m(a), i(a), j(a))$  defines a homomorphism of  $X = S$  onto  $V$ . Let  $U$  denote the group of units of  $C$  and  $1$  denote the identity of  $U$  (of  $C$ ).

We often use Theorem 1 and Remark 2 and their notation without explicit mention.

In Lemmas 3–11,  $S$  will denote a TC semigroup. Lemma 3 will be used in the proof of Lemma 4 and Theorem 12.

**Lemma 3.**  $S_{Reg} = \{\phi_{i(a)j(a)}(1, m(a)) : m(a) \in U\}$ .

**Proof.** Suppose  $a \in S_{Reg}$ . Then  $(ax)a = a$  for some  $x \in S$ . So,  $a = \phi_{i(a)j(a)}(1, m(a))$ . Since  $m(ax) \in E(C)$ ,  $m(a) \in U$ . Conversely, if  $m(a) \in U$ , let  $m(x) = (m(a))^{-1}$ . So,

$$\phi_{i(a)j(a)}(1, m(a)) \cdot \phi_{i(a)j(x)}(1, m(x)) \phi_{i(a)j(a)}(1, m(a)) = \phi_{i(a)j(a)}(1, m(a)).$$

Lemma 4 is [8, Lemma 2.4] but a different proof using Theorem 1 is given here.

Lemma 4 will be used in the proof of Lemma 5.

**Lemma 4.**  $S_{Reg} = \phi$  or  $S_{Reg}$  is a regular subsemigroup of  $S$ .

**Proof.** If  $m(a), m(b) \in U$ , let  $x = \phi_{i(a)j(a)}(1, m(a))$  and  $y = \phi_{i(b)j(b)}(1, m(b))$ . Thus  $xy = \phi_{i(a)j(b)}(m(a), m(b))$ . Let  $m(x) = (m(a))^{-1}$ . Then,  $\phi_{i(a)j(b)}(m(a), m(b)) = \phi_{i(a)j(b)}(m(a)m(x)m(a), m(b)) = \phi_{i(ab)j(ab)}(1, m(ab))$ . Since  $m(ab) = m(a)m(b) \in U$ ,  $xy \in S_{Reg}$  by Lemma 3.

Lemma 5 will be used in the proof of Lemma 10 and Theorem 12.

**Lemma 5.** If  $S_{Reg} \neq \phi$ ,  $\varphi(a) = (m(a), i(a), j(a))$  is an isomorphism of  $S_{Reg}$  onto  $H \times A \times B$  where  $H = (m(a) : a \in S_{Reg})$  is an abelian group,  $A = (i(a) : a \in S_{Reg})$  is a left zero semigroup and  $B = (j(a) : a \in S_{Reg})$  is a right zero semigroup.

**Proof.** Since  $H$  is a regular subsemigroup of  $C$  by Remark 2 and Lemma 4,  $H$  is an abelian group. Also,  $A \subseteq I$  and  $B \subseteq J$ . By Remark 2, if  $a \in S_{Reg}$ ,  $\varphi(a) = (m(a), i(a), j(a))$  defines a homomorphism of  $S_{Reg}$  into  $H \times A \times B$ . We next show  $\varphi$  is "onto". Let  $(x, y, z) \in H \times A \times B$ . Thus,  $x = m(a), y = i(b)$ , and  $z = j(c)$  for some  $a, b, c \in S_{Reg}$ . There exists  $r, s \in S(= X)$  such that  $brb = b$  and  $csc = c$ . Thus,  $(x, y, z) = (m(brasc), i(brasc), j(brasc)) = \varphi(brasc)$  with  $brasc \in S_{Reg}$  by Lemma 4. We next show  $\varphi$  is one-to-one. Suppose  $\varphi(a) = \varphi(b)$  where  $a, b \in S_{Reg}$ . Suppose  $axa = a$  and  $byb = b$ . So,  $a = (ax)a = \phi_{i(a)j(a)}(1, m(a))$

and  $b = (by)b = \phi_{i(b)j(b)}(1, m(b))$ . Hence,  $a = b$ .

**Remark.** If  $a, b \in S_{\text{Reg}}$  and as  $b \in X_v$ , then  $\varphi(a) = \varphi(b)$ . Thus,  $a = b$  by Lemma 5.

Lemma 6 will be used in the proof of Lemma 7.

**Lemma 6.**  $E(S) \neq \phi$  if and only if  $C$  has an identity element 1 and, then  $E(S) = (\phi_{ij}(1, 1) : 1 \in M_i, 1 \in N_j)$ .

**Proof.** Suppose  $C$  has an identity element 1. Then  $m(e) = 1$  for some  $e \in S$ . Let  $t = \phi_{i(e)j(e)}(m(e), m(e))$ . Then,  $tt = \phi_{i(e)j(e)}(m(e), m(e)) = t$ . So,  $t \in E(S)$ . Conversely, suppose  $E(S) \neq \phi$ . Let  $a \in E(S)$ . Thus,  $aa = \phi_{i(a)j(a)}(m(a), m(a)) = a$ . Hence,  $(m(a))^2 = m(a)$  and, thus,  $m(a)$  is the identity of  $C$ . Furthermore,  $a = \phi_{i(a)j(a)}(1, 1)$  with  $1 \in M_{i(a)}$  and  $1 \in N_{j(a)}$ . Let  $t = \phi_{ij}(1, 1)$  where  $1 \in M_i$  and  $1 \in N_j$ . Then,  $tt = \phi_{ij}(1, 1)\phi_{ij}(1, 1) = \phi_{ij}(1, 1) = t$  since  $\phi_{ij}(1, 1) \in X_{(1,i,j)}$ .

An element  $a$  in an arbitrary semigroup  $S$  is termed  $E$ -inversive if there exists  $b \in S$  such that  $ab \in E(S)$ . We will denote the set of  $E$ -inversive elements of  $S$  by  $S_E$ . Following [2], a semigroup  $S$  is termed  $E$ -inversive if each element of  $S$  is  $E$ -inversive. Let  $a \in S_E$ . Then, there exists  $y \in S$  such that  $ay, ya \in E(S)$ . If  $ax \in E(S)$ , just let  $y = xax$ .

Lemma 7 will be used in the proof of Lemma 11, Theorem 12, and Theorem 13.

**Lemma 7.**  $a \in S_E$  if and only if  $m(a) \in U$ .

**Proof.** Let  $a \in S_E$ . Then, there exists  $b \in S$  such that  $ab \in E(S)$ . So,  $m(a)m(b) = m(b)m(a) = 1$ . Hence,  $m(a) \in U$ . Conversely, let  $m(a) \in U$ . So,  $m(a)m(b) = m(b)m(a) = 1 = m(e)$  for some  $e \in S$ . Thus,  $ab = \phi_{i(a)j(b)}(m(a), m(b)) = \phi_{i(a)j(b)}(m(a), m(b)m(e)) = \phi_{i(a)j(b)}(m(a)m(b), m(e)) = \phi_{i(a)j(b)}(1, 1)$  (Note  $ab \in X_{(m(e), i(a), j(b))}$ ). Thus,  $1 = m(e) \in M_{i(a)}$  and  $1 = m(e) \in N_{j(b)}$ . Hence,  $ab \in E(S)$  by Lemma 6.

Lemma 8 will be used in the proof of Lemma 9.

**Lemma 8.** If  $x, y \in S$  and  $e \in E(S)$ , then  $xey = xy$ .

**Proof.**  $(xe)y = \phi_{i(x)j(y)}(m(x), m(y)) = xy$ .

Lemma 9 will be used in the proof of Lemma 10.

**Lemma 9.**  $S_E = \phi$  or  $S_E$  is an  $E$ -inversive semigroup with  $S_E^2 \subseteq S_{Reg}$ .

**Proof.** Suppose  $S_E \neq \phi$ . Let  $a, b \in S_E$ . Then, there exists  $x, y \in S$  such that  $xa, by \in E(S)$ . Hence, using Lemma 8,  $ab(yx)ab = a(by)(xa)b = ab$ . So,  $ab \in S_{Reg}$ .

If  $a \in S_E$ , there exists  $y \in S$  such that  $ay, ya \in S_E$ . Thus,  $y \in S_E$ .

Lemma 10 will be used in the proof of Lemma 11 and Theorem 12.

**Lemma 10.**  $S_E = \phi$  or  $S_E = W \dot{\cup} H \times A \times B$  where  $W, A$ , and  $B$  are sets and  $H$  is an abelian group under the following product: if  $a, b \in W$  and  $(g, i, j), (h, k, \ell) \in H \times A \times B$ , then  $ab = (a\phi b\phi, a\alpha, b\beta), (g, i, j)a = (g(a\phi), i, a\beta), a(g, i, j) = (a\phi g, a\alpha, j)$



and  $(g, i, j)(h, k, \ell) = (gh, i, \ell)$  where  $\phi, \alpha$ , and  $\beta$  are functions of  $W$  into  $H, A$ , and  $B$  respectively and  $S_{\text{Reg}} = H \times A \times B$ .

**Proof.** Assume  $S_E \neq \phi$ . Thus,  $S_{\text{Reg}} = \phi$  and  $S_{\text{Reg}} \subseteq S_E$ . By Lemma 5,  $\varphi(a) = (m(a), i(a), j(a))$  ( $a \in S_{\text{Reg}}$ ) defines an isomorphism of  $S_{\text{Reg}}$  onto  $H \times A \times B$  (notation of Lemma 5). Let  $a \in S_E$ . Thus, there exists  $x$  and  $y \in S$  such that  $ax, ya \in E(S)$ . Hence,  $\varphi(axaya) = (m(axaya), i(axaya), j(axaya)) = \varphi(a)$ . Since  $axaya \in S_{\text{Reg}}$  by Lemma 9,  $\varphi$  defines a homomorphism of  $S_E$  onto  $H \times A \times B$ . We will repeatedly use the fact that  $u, v \in S_E$  imply  $uv \in S_{\text{Reg}}$  (Lemma 9). Let  $W' = S_E - S_{\text{Reg}}$ . So,  $S_E = W' \dot{\cup} S_{\text{Reg}}$ . There exists a one-to-one mapping  $\theta$  of  $W'$  onto a set  $W$  with  $W \cap \varphi(S_{\text{Reg}}) = \phi$ . Let  $\overline{S_E} = W \dot{\cup} \varphi(S_{\text{Reg}})$ . Define  $\delta(x) = \theta(x)$  if  $x \in W'$  and  $\delta(x) = \varphi(x)$  if  $x \in S_{\text{Reg}}$ . Then,  $\delta$  is a 1-1 mapping of  $S_E$  onto  $\overline{S_E}$ . Define a product on  $\overline{S_E}$  by the rule  $x \circ y = \delta(\delta^{-1}(x)\delta^{-1}(y))$ . Then,  $(\overline{S_E}, \circ)$  is a groupoid isomorphic to  $S_E$  under  $\delta$ . Define  $a\phi = m\delta^{-1}(a)$ ,  $a\alpha = i\delta^{-1}(a)$ , and  $a\beta = j\delta^{-1}(a)$  for  $a \in W$ . Thus,  $\phi, \alpha$ , and  $\beta$  are functions of  $W$  into  $H, A$ , and  $B$  respectively. If  $a, b \in W$ ,  $a \circ b = \delta(\delta^{-1}(a)\delta^{-1}(b)) = (m(\delta^{-1}(a)\delta^{-1}(b)), i(\delta^{-1}(a)\delta^{-1}(b)), j(\delta^{-1}(a)\delta^{-1}(b))) = (a\phi b\phi, a\alpha, b\beta)$ . If  $(g, i, j) \in H \times A \times B$ , there exists  $c \in S_{\text{Reg}}$  such that  $m(c) = g$ ,  $i(c) = i$  and  $j(c) = j$  by Lemma 5. Thus,  $a \circ (g, i, j) = \delta(\delta^{-1}(a)\delta^{-1}(g, i, j)) = \delta(\delta^{-1}(a)c) = (m(\delta^{-1}(a)c), i(\delta^{-1}(a)c), j(\delta^{-1}(a)c)) = (a\phi g, a\alpha, j)$ . Similarly,  $(g, i, j) \circ a = (g(a\phi), i, a\beta)$  and  $(g, i, j) \circ (h, k, \ell) = (gh, i, \ell)$  where  $(h, k, \ell) \in H \times A \times B$ . We may find an isomorphism  $\lambda$  of  $S$  onto a semigroup  $\overline{S}$  with subsemigroup  $\overline{S_E}$  such that  $\lambda|_{S_E} = \delta$  and  $\overline{S_E} = \overline{S_E}$ . So, we identify  $\overline{S}$  with  $S$  and  $\overline{S_E}$  with  $S_E$ . Clearly,

$$S_{\text{Reg}} = H \times A \times B.$$

Lemma 11 will be used in the proof of Theorem 14.

**Lemma 11.**  *$a\mathcal{R}b$  implies  $a = b$  or  $a = bs$  and  $b = at$  where  $s, t \in S_E$  and  $st, ts \in E(S)$ .*

**Proof.** Suppose  $a \neq b$ . Thus, there exists  $s, t \in S$  such that  $a = bs$  and  $b = at$ . Hence,  $a = ats$ . So,  $m(a) = m(a)m(ts)$ . Thus,  $m(a)m(ts) = m(a)(m(ts))^2$ . Hence,  $m(ts) \in E(C)$ . So,  $m(t)m(s) = m(s)m(t) = 1$ . Thus,  $s, t \in S_E$  by Lemma 7. Furthermore,  $ats = a(ts)^2$ . Hence,  $(ts)^2 = (ts)^3$  by *TC*. Since  $s, t \in S_E$ ,  $ts = (g, i, j) \in H \times A \times B$  by Lemma 10 (notation of Lemma 10). So,  $g^2 = g^3$  and  $g = e$ , the identity of  $H$ . Thus,  $ts \in E(S)$ . Similarly,  $st \in E(S)$ .

Let  $T$  be a semigroup. With each element  $t \in T$  associate a set  $P_t$  containing  $t$  such that the sets  $P_t (t \in T)$  are mutually disjoint. Let  $S = U(P_t : t \in T)$  and let the product in  $T$  be extended to a product in  $S$  by defining  $ab = st$  if  $a \in P_s$  and  $b \in P_t (s, t \in T)$ . Then,  $S$  is a semigroup which is called an inflation of  $T$  [2].

Theorem 12 will be used in the proof of Theorem 13, Theorem 14, and Theorem 15.

**Theorem 12.** *Let  $S$  be a *TC* semigroup. Then,  $S_E = \phi$  or  $S_E$  is an inflation of  $S_{\text{Reg}} = V_{\text{Reg}} = H \times A \times B$  where  $H$  is an abelian group,  $A$  is a left zero semigroup, and  $B$  is a right zero semigroup.*

**Proof.** Assume  $S_E \neq \phi$ . We first use Lemma 10 to show  $S_E$  is an inflation of  $S_{\text{Reg}} = H \times A \times B$  (notation of Lemma 10). Let  $P_{(g,i,j)} = \{(g, i, j)\} \cup \{a \in W : a\phi = g, a\alpha = i, \text{ and } a\beta = j\}$ . So, by Lemma 10,  $S_E = U(P_{(g,i,j)} : (g, i, j) \in H \times A \times B)$  is an inflation of  $S_{\text{Reg}}$ . By Lemma 5,  $\varphi(a) = (m(a), i(a), j(a))$  defines an isomorphism of  $S_{\text{Reg}}$  onto  $\varphi(S_{\text{Reg}})$ . Using Lemma 7,  $V_{\text{Reg}} = ((m(a), i(a), j(a)) : a \in S_E)$ . So,  $\varphi(S_{\text{Reg}}) \subseteq V_{\text{Reg}}$ . Let  $(m(a), i(a), j(a)) \in V_{\text{Reg}}$ . So,  $a \in S_E$ . Thus, by Lemma 3,  $\phi_{i(a)j(a)}(1, m(a)) \in S_{\text{Reg}}$ . Hence,  $\varphi(\phi_{i(a)j(a)}(1, m(a))) = (m(a), i(a), j(a))$ . So,  $\varphi(S_{\text{Reg}}) = V_{\text{Reg}}$ .

A semigroup  $S$  is called semisimple if every principal factor of  $S$  is 0-simple or simple. Equivalently,  $S$  is semisimple iff  $I^2 = I$  for every ideal  $I$  of  $S$  [2]. If  $S$  is a semigroup, let  $J(a)$  denote the principal ideal generated by  $a$  and define  $a\mathcal{J}b$  if  $J(a) = J(b)$  ( $\mathcal{J}$  is a Green's relation). Let  $\mathcal{J}_a$  denote the  $\mathcal{J}$ -class of  $S$  containing  $a$ .  $S$  is semisimple iff for  $a \in S$ , there exists  $x, y \in \mathcal{J}_a$  such that  $xy \in \mathcal{J}_a$ .

**Theorem 13.**  *$S$  is a semisimple TC semigroup if and only if  $S \cong H \times A \times B$  where  $H$  is an abelian group,  $A$  is a left zero semigroup, and  $B$  is a right zero semigroup.*

**Proof.** Let  $S$  be a semisimple TC semigroup. We will show that  $S = S_E$  and then apply Theorem 12. Suppose  $a\mathcal{J}b$  ( $a, b \in S$ ). Since  $J(a) = J(b) = J(b)^3$ ,  $a = rbs$  for some  $r, s \in S$ . Similarly,  $b = r_1as_1$  for some  $r_1, s_1 \in S$ . So  $m(a) = m(b)m(rs)$  and  $m(b) = m(a)m(r_1s_1)$ . Thus,  $m(a) = m(a)m(r_1s_1)m(rs)$ . So, if  $m(r_1s_1)m(rs) = u$ ,  $m(a) = m(a)u$ . Hence,  $m(a)u = m(a)u^2$ . Thus,  $u^2 = u$ . So,  $u = 1$ , the identity of  $C$ . Hence,  $m(r_1s_1) \in U$  and  $m(b) = m(a)v$  where  $v \in U$ . Thus,  $\mathcal{J}_a \subseteq \{z | m(z) = m(a)v$

for some  $v \in U$ . Since  $S$  is semisimple, there exists  $z_1, z_2 \in \mathcal{J}_a$  such that  $z_1 z_2 \in \mathcal{J}_a$ . Thus,  $m(z_1) = m(a)v_1, m(z_2) = m(a)v_2$ , and  $m(z_1 z_2) = m(a)v_3$  where  $v_1, v_2, v_3 \in U$ . So,  $m(a)v_3 = m(a)v_1 m(a)v_2$ . Hence,  $v_3 = m(a)v_1 v_2$  or  $m(a) = v_3 v_2^{-1} v_1^{-1} \in U$ . Hence,  $m(a) \in U$  for all  $a \in S$ . Thus,  $S = S_E$  by Lemma 7. Let  $a \in S_E$ . Thus, as above, there exists  $r, s \in S_E$  such that  $a = ras$ . So,  $a \in S_{\text{Reg}}$  by Theorem 12. So,  $S = S_{\text{Reg}}$ . Thus, by Theorem 12,  $S \cong H \times A \times B$  where  $H$  is an abelian group,  $A$  is a left zero semigroup, and  $B$  is a right zero semigroup. By easy calculations,  $H \times A \times B$  is a regular  $TC$  semigroup. Hence,  $H \times A \times B$  is a semisimple  $TC$  semigroup.

**Theorem 14.** *Let  $S$  be a  $TC$  semigroup.  $S$  is an  $\mathcal{R}$ -trivial semigroup iff  $S_{\text{Reg}} = \phi$  or is an  $\mathcal{R}$ -trivial semigroup iff  $S_E = \phi$  or is an inflation of a left zero semigroup.*

**Proof.** Suppose  $S_{\text{Reg}}$  is an  $\mathcal{R}$ -trivial semigroup. Then, using Theorem 12,  $S_E$  is an inflation of  $S_{\text{Reg}} \cong A$  (notation of Theorem 12). Next, we show  $S$  is an  $\mathcal{R}$ -trivial semigroup. Let  $b \in S$  and suppose  $|R_b| > 1$ . Then, there exists  $c \neq b$  such that  $c\mathcal{R}b$ . So, by Lemma 11, there exists  $s, t \in S_E$  such that  $st, ts \in E(S)$  and  $c = bs$  and  $b = ct$ . Thus,  $c = cts$ . Let  $ts = e$ . So,  $c = ce$ . Thus,  $R_b = R_c = R_{ce}$ . Let  $x\mathcal{R}ce$ . Thus, by Lemma 11,  $x = ce$  or  $x = cer$  where  $r \in S_E$ . So, by Theorem 12,  $x = ce$  in either case. So,  $|R_b| = |R_{ce}| = 1$ , a contradiction. So,  $S$  is an  $\mathcal{R}$ -trivial semigroup. Clearly, if  $S$  is an  $\mathcal{R}$ -trivial semigroup,  $S_{\text{Reg}} = \phi$  or is an  $\mathcal{R}$ -trivial semigroup. If  $S_{\text{Reg}} = \phi$ ,  $S$  is an  $\mathcal{R}$ -trivial semigroup by Lemma 11. If  $S_E$  is an inflation of a left zero semigroup  $A$ , then  $A = S_{\text{Reg}}$  and hence  $S_{\text{Reg}}$  is an  $\mathcal{R}$ -trivial semigroup.

A semigroup  $S$  is termed quasi-regular if  $a \in S$  implies there exists a positive integer  $n$  such that  $a^n \in S_{\text{Reg}}$ .

**Theorem 15.** *Let  $S$  be a TC semigroup.  $S$  is a quasi-regular semigroup iff  $S$  is an  $E$ -inversive semigroup iff  $S$  is an inflation of  $H \times A \times B$  where  $H$  is an abelian group,  $A$  is a left zero semigroup, and  $B$  is a right zero semigroup.*

**Proof.** Let  $S$  be a quasi-regular semigroup. Then, clearly,  $S$  is an  $E$ -inversive semigroup. If  $S$  is an  $E$ -inversive semigroup, then  $S$  is an inflation of  $H \times A \times B$  by Theorem 12. If  $S$  is an inflation of  $H \times A \times B$ , it is easily seen that  $S$  is a quasi-regular semigroup.

**Acknowledgement.** We thank the referee for suggestions which considerably reduced the length of the original version of the paper.

### References

1. S. Burris, and H.P. Sankappanavor, *A Course in Universal Algebra*, (Springer Verlag, New York, 1981).
2. A.H. Clifford and G.B. Preston, *The Algebraic Theory of Semigroups*, Math. Surveys Amer. Math. Soc. 7, Vol I (AMS, Providence, R.I., 1961), Vol. II, 1967.
3. J.M. Howie, *An Introduction to Semigroup Theory* (Academic Press, London, 1976).
4. McKenzie, R., *On Minimal, Locally Finite Varieties, with Permuting Congruence Relations*, Berkeley Manuscript, 1976.
5. McKenzie, R., *The Number of Non-isomorphic Models in Quasi-varieties of Semigroups*, Algebra Universalis 16(1983), 195-203.

6. McKenzie, R., McNulty, G., and Taylor, W., *Algebras, Lattices, and Varieties*, Vol. I, The Wadsworth and Brooks/Cole Mathematical Series, 1987.
7. Taylor, W., *Some Applications of the Term Condition*, *Algebra Universalis* 14(1982), 11–24.
8. Warne, R.J., *Semigroups obeying the term condition*, *Algebra Universalis* 31(1994), 113–123.
9. Warne, R.J., *On the structure of TC semigroups*, in *Semigroups, Algebraic Theory and Applications to Formal Languages and Codes*, Eds. C. Bonzini, A. Cherubini, C. Tibiletti (World Scientific, 1993), 300–310.
10. Warne, R.J., *TC semigroups and related semigroups*, *Workshop on Semigroups, Formal Languages, and Combinatorics on Words*, Kyoto, Japan, August, 1992, Abstracts, 130–132; Technical Report No. 138, Department of Mathematical Sciences, KFUPM, Dhahran, Saudi Arabia, April, 1993.

Department of Mathematical Sciences  
King Fahd University of Petroleum and Minerals  
Dhahran 31261, Saudi Arabia